INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

* Arthur travels 9 miles to reach school. August travels 2 fewer miles than %

* Arthur to reach school. How many miles does August travel to reach his o

~ school? saflse

: miles

~ Savannah has 18 pears. Anna has 3 fewer pears than Savannah. How
~ many pears does Anna have?
pears
« Adeline has 3 pet dogs. Vivian has 1 fewer pet dog than Adeline. How
many pet dogs does Vivian have?
petdogs
. David has 14 flags. Matthew has 5 fewer flags than David. How many E
. flags does Matthew have? '
I flags !
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